iax. Marks: 68

are compulsory
Questior Q< and 9. Both ar re computsory, but with internal choice
iia may be assumed appr opriately

o]

) List three objectives of an operating system.

Yy

Uistinguish between hard real time systems and soft real time systers.

jny
o

¢} Why page size ig always power of 29
d)  Why AP’s need to be uged rather than system call?
e} Is deadlock state more critical than siarvation? Justify.

i} What are the three methods for allocating disk space?

“ling sysiem.

state dining philosopher’s problem and give a solution using semaphores. Write
structure of philosopher.

Describe necessary conditions for a deadlock situation to arise. Brief about different

methods to handle deadlocks.

P.T.O.
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Distinguish  between .%} Process  and  Program 1t} and
P seheduling
Differentiate between the }‘ Eiowm; a) Paging and Segmeniation b} Page table and

segrnent table ¢) Internal and external fragmentation

9
OR

s virtual memory?  Assume we have a demand paged memory. The page table

is held in registers it takes ms to service a page fault if an empty page is available or
the replaced page is not mod tified, and 20ms if the replaced page is modified. Memory
access time is 100ns. Assume that the page 1o be replaced is modified 70% of the
time. What is the maximum @ acceptable page fault raie for an effective access time of

o

1o more than 200ng?



